Total No. of Printed Pages—8
1 SEM TDC MTH G 1

2017
( November )

MATHEMATICS
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Course : 101

[ A : Classical Algebra, B : Trigonometry,
C : Vector Caleulus]

Full Marks : 80
Pass Marks : 32/24
Time : 3 hours
The figures in the margin indicate full marks
for the questions
(A: Classﬁcal Algebra )
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Prove that every convergent sequence is

bounded.
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Use general principle of Cauchy’s
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If Zu,, is a positive term series, such that )
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then show that the series converges
if I<1.
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Test the convergence of any two of the
following :
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If o, By and 8 are the four roots of
the equation x* + x3 -16x2 ~4x+48 =0,
then find Zofy. ‘
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Find the number of positive and negative
roots of the equation x2" +1=0.
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If the reots of the equation
x3 - px2 -gx-r=0
are in GP, then show that p3r =¢3.
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(i) x3 -12x+65 =0
(ii) 3 ~352

the following by

+12x+16 =0
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( B : Trigonometry )
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. a-ib 2ab
t 1 =
an(l Oga-i-fb) a2 —b2

. 'es‘
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If x =log tan (E— + g-), then prove that
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State Gregory’s series.
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Find the sum (any one) :
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( C: Vector Calculus )

;’- (@) 87 Ry wop wivzmeR sice i |

Define continuity of a vector point
function,
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State True or False :
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Curl of a vector point function is a scalar
Quantity.
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